www.sakshieducation.com

—__DO NOT OPEN THE SEAL OF THE BOOKLET UNTIL YOU ARE TOLD TO DO SO_

Test Form No.
& wid HE
475 MH 3

Time Allowed : 2 Hours (For V.H. Candidates : 2 hrs. 40 min.)

feffia G ;2 50 (gfeanfya soicani # fog @ 2 592 40 fiFe)

GA-2014

SW- 1085805

Maximum Marks : 200
HEFTT 3HF : 200

Read the following instructions carefully before you begin to answer the questions. This Booklet contains questions in English as well as in Hindi.
TF1 o I a1 | Uget e ford srqevit &t e R ug o | 30 ufeest W vy i qo = 2 o o m E

INSTRUCTIONS TO CANDIDATES IAEART % feTT AT

1. This Booklet contains 200 questions in all comprising the following - -

: thﬁpms: > 1 ﬁgmﬁﬁzmm%,wmﬁqu*ﬁ:
Part — I: General Intelligence and Reasoning (50 Questions) -1 T Gl UE e (50 %)
Part — 11: General Awareness (30 Questions) =11 = SAHEAT (50 %)
Part — Il English Language and Comprehension (100 Questions) qm-11 : S s v gfEe (100 TF)

2, l:‘tquesuc_:lnsseth_iﬁngl{allyin English and Hindi, in case of discrepancy, |2 afftsft aihy faeet & dam e o foundt wodi o =18 fagfa 719 =1 feufa 4
the English version will prevail. .

. AL feaon urg 2rm |

3. All questions are compulsory and carry equal marks. , . 3

4. The paper carries negative marking. 0.25 marks will be deducted for each 3. Wty S A F‘:l% T T
Wwrong ansiver. 4. N¥T-TF § THERIHE HF4 50 ) BT Teid 3 & 1e10 0.25 375 F T |

5. Before you start to answer the questions you must check up this |5, yyf & e & ugel 9 36 Y Ft e ek cu W e g g
Hmkl.et :u:ui ensure that i:;;mlf‘m ﬂ]:.ﬂ'l.: page; [:-24} u:: ne; ﬂiitlnu 7 (1-24) ¥ o wrd TES & AT TAT t 7 2 T ¥ afr smoTw

age is missing or repea ou find any defect in this Booklet, : 2 - _
;.']E must get ilgreplac];e‘f:i immfdiftrtafy. : qfterenr o mﬁw’ A T FIE TG WWT} M .

6. Youwill be supplied the Answer-Sheet separately by the Invigilator. | - Frileres gr Aol ST~ srem | & et | e uf ¥ Side-1 d
You must complete and code the details of Name, Roll Number, Ticket fraerae & STER SHYEE AT W, U T, e e v i
Number and Test Form Number on Side-I of the Answer-Sheet carefully. g g Ed I v v T Erae i 7F F0A 8 vget Tw-9fm
You must also put vour signature and [eft-Hand thumb impression on - - LA IL .
the ﬁmwwr-fﬂ']:eef at thegl[::ﬁrribfd place before you acFuall}' start :';TT ::'fmﬁ b Hﬁ bl m i 3;:4113 Bl ;Hﬁ..l—,“
answering the guestions. These instructions must be fully complied D SRS E@il L m i S -
with, failing which, your Answer-Sheet will not be evaluated and you - F A AW A gy HF e _mm ( gfearfua
will be awarded “ZERO' mark. (for VH candidates these details will sefteant & ferg ag faaror fafas gro s | o ot gfeanfua
I:H:Eill II-:ld indhyl:he H-I:'Ihi'.‘ However, all ELH. candidates must put their IofteaT I- b d Fuifa wr w s ad e & 3rye T FremA
Left-Hand thumb impression at the space provided in the - B ItEETT BT :
Answer-Sheet. In addiﬁfﬂ, those VH candidzteswfm can sign should ;mﬁ ﬁ F-:l .ﬁlz a}iw 5 ' FEEAE,
also put their signatures in addition to thumb impression.) HS - S TR . ﬁ'{ ) )

7. Answers must be shown by completely blackening the corresponding | 7- I-ufs 7 Al I Side-11 # 9 H&A F A fou v wEtEmg
ovals on Side-II of the Answer-Sheet against the relevant question FAVSTER W F Fa9 ®wiel/ A qer-gise T A 71 A w0 =0
number by Black/Blue Eﬂll;'l’lmnt Pen 1}nl:-,.'. Answers ‘I.".'E':I-L‘h-an: not faamd | S v @F FR/ i afa-ufiz 1§ 75 w1 s, 39 Ay
shown by Black/Blue Ball-Point Pen will not be awarded any mark. ¢ % 7E fen som |

8. A machine will read the coded information in the OMR ; = T
Answer-Sheet, In case the information is incomplete or different from | 8 1.9 AR, JT-uf A tfﬁ T e HAN F1 U T T | AR G
the information given in the application form, the candidate will be YO} & AT e IO H & g 4 i 2, @ o) sefeam oy
awarded 'ZFRO’ mark. = T =

3. The Answer-Sheet must be handed over to the Invigilator before you | g wfie wa g3 4 Tea aftean w1 Im-ufym St & gae 51 24
leave the Examination Hall. e | ' '

10. Failure to comply with any of the above instructions will render a . R
candidate Iiablﬂtj-':rsuchad}irnnfpemltyasumy be deemed fit. 10. T & GFlﬁﬂﬁ " &/ fodt uw &1 ot e 1 S W IniEan w

11. The manner in which the different questions are to be answered has FerdeTam wrdaTd &t o gt § 41 2ve frm s awar )
been explained at the back of this Bookiet {]?age No. 24}’. which you | 11, fafy= w1 % 33 37 1 fafy 70 qfes & 92 (y= e 24) 9 29 7
should read carefully before artually answering the questions. frdoli § 2 €t g %, 39 om0 vl % wwe 29 9 T wEyEE wg A

12, Answer the questions as quickly and as carefully as you can. Some 12. 99 ¥ T fGﬁFﬁJ T B T e '- 3 '
questions may be difficult and others easy. Do not spend too much ; AR S| P T WA 99 FS
time on any question. Hfoa &1 et o e T age wfr wem A wm

13. Inlieu of Question Nos. 44 to 50 relating to figural portions, alternate | 13, 3% | Fmafq = T@m 44 7 50 & 95 § Faq gfezafia Idftean
questions have been provided to be attempted by VH candidates only. gr1 7 frn 9 ¥ fon S=fegs wys few e 3

14. Norough work is to be done on the Answer-Sheet. Space for rou _
work has been provided below the questions in Part | of this Hmklﬁ b 3‘? T“:“'ir 3:‘; m""ﬁﬂg‘ “;;ﬁﬁ:;% irlu % w1 % e o T

15. “Mobile phones and wireless communication devices are | ' .
completely banned in the examination halls/rooms. |15 GG Fctl) T W FAFeT BT 7T FAT G AT G G
Candidates are advised not to keep mobile phones/any other | AT ¥1 30fiqany & 9% 37 fea ¥ aong 3wt & &
wireless communication devices with them even switching it TATFT Bl | Freil 377 Qe QA Qe &t e 3w w3 ot
off, in their own interest. Failing to comply with this HU G T Y| I WEET T AT T T F G087

provision will be considered as using unfair means in the IR TG T GET A S 29 3 R e @t
examination and action will be taken against them including
cancellation of their candidature. Such candidates are also | WG, SThI SNANIAT 7§ FT 3 Vg 1 U8 Iedfigamtt &1 Wi a9
liable for debarment upto a period of five years and/or & [o7q vt sit foear i wahan & 3l ar 37 9T ST
Criminal Prosecution.” i e T awar #17
§9 GRAFT &1 GicT ad dF T Tt Aq 7% FHel T AT/
GA-2014/Pagel 475 MH 3

www.sakshieducation.com



www.sakshieducation.com

SSC Stenographers (Grade 'C' and 'D') Examination 2014
Held on: 14.09.2014 (Morning Session)

PART -1
GENERAL INTELLIGENCE & REASONING

Direction : In question no. 1 to 6, select the related letter/
word /number from the given alternatives.

L SILK : NDGF::SOIL: _ ?

(&) NIDG (B) RNHK

(© NIBD (D) NKFJ
2. T8l a9y 2

(Ay 79 (B) 94 (© 50 (D) 81
3. ACF:BDG::EG]: _?

(A) BDF (By FHK (©) EFG (D) ADF

4.  ACEF:GIKL::MOQR: _?
(A) SUWY (B) TVXZ
© TUXY B) SUWX

5. Lamp : Oil : : electricbulb: __?

(A4) current (B) bright

(O holder (D) switch
6. Poem:DPoet:: _ 7?7 :Book

(A) Editor (B) Author

(© Writer (D) Publisher

Direction : In question no. 7 to 12, find the odd word/
letter/number pair from the given alternatives.

7. (A) cricket (B) football
(C) polo (D) hockey

8. (A) TapeRecorder  (B) TV
(©) Gramophone (D) Radio

9. (A) CDFE @) RSTV
© JKML (D) MNPO
10. {A) 46-54 B) 71-17
©) 31-13 D) 79-97
1. AT @ T8 (©T2 @O T2A

12.  (AY ARBT
© PXQY

(B) KVLW
(D) EPFQ

Direction : In question no. 13 and 14, which one of the
given responses would be a meaningful order of the
following ?

13. (1) Classroom (2) Desk
(4) Community (5) Drawer
A) 9.2.0.0).6)  ® ©).2).4),06)01)
A7 (4),3),(1),(2).0) D) (1), (), (3). (4). (5)

14. (1) Gold (2) Ornaments (3) Ore
(4) Mine (5 Process
(A) (4),(3).().(1). (2 B) (4), (), (). (2). (1)
© ), ), 0. (1) (2) D) (2),(1),(5). (4). 3)

(3) School

Direction : In question no. 15 to 18, choose the correct
alternative from the given ones which will complete the
SCTIes.

. 8,18,32,50,72, ...

A 76 B9 Q80 (D) 70
16. BDZXWHVT] 2 2 2
(A) LRP (B) LPR
© LRQ (D) KRP
17. BXJ,ETLHPN,KLP, _? _
(A) MHQ B) MIP
(© NIR Dy NHR
18.  1331,729,343,125 _ 2
(A) 27 B) 64 © 216 (D) 512

19.  Given below are four words. Putting the letters in a
different order, a new word is formed from each of
those words. Identify the word in which there is an
addition of a letter, while compared with the original

word.

(1) Shrub (2) Bleat
(3) Meats (4) Votes
(A) Table By Stoves
(C) Brush (D) Steam

SPACE FOR ROUGH WORK
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Praveen is twice as old as Roopa and 6 years older
than Deepak. If Deepak is 12 vears, how old is
Roopa ?

(A) 9 (B) 8 (Q 11 D) 6

[f LPPHGLDWH means IMMEDIATE, what does
GRPDLQ stand for ? '
(A) MATTER

(O ORANGE

{B) DOMAIN
(D) DANGER

While travelling in a train with his friend, Rushil
meets another man whose mother is the wife of
Rushil’s father’s only son. How is the man related
to Rushil ?
(A) son

(©) uncle

(B) father
(D) nephew

If SCHOOL is written as TBINPK, how TEACHER
can be written in that code ?

(A} UDBBIDS (B) DUBBIDS
(C) NDBBISD (D) SEIDIFDS

Direction : In question no. 24 and 25, some equations are
solved on the basis of a certain system. On the same basis
find out the correct answer from amongst the four
alternatives for the unsolved equation in each question.

24,

25.

If p means —, q means +, r means + and
smeans X, then18p6gq4s6r2=7

A 24 B) 12 © 26

[f9-8-7=876,6—4—2=>531, then8-5-3="7
(A) 647 (B) 741 &y 742 (D) 572

D) 128

Direction : In question no. 26 to 28, select the missing
number from the given responses.

26.

27.

100 30
57
25 12
(A) 50  (B) 90 (O 218 D) 64
3 5. - 2
4f{i}—5 ?—(i}—?‘ 3—{i}—5
5 - 4 1
(A) 11 (B) 3 Q1 D) 5

28.

29.

30.

31.

32.

5 7 4
16 13 38
3 5 7
7 4 6
(A) 6 ®) 7 Q 9 D) 8

One morning after sunrise Manajit and Sangita were
walking to each other face to face at the park. If
Manajit's shadow was exactly to the right of Sangita,
which direction Manajit was facing ?

(A) South (B) East

(©) West (D) North

Jaffar starting from a fixed point goes 15 km towards
North and then aiter turning to his right he goes
15 km. Then he goes 10, 15 and 15 ki after turning
to his left each timne. How far is he from his starting
point ?

(A) 10km
(C) 15 km

B) 20km
D) 5km

In a class the students are standing in a row. A
student is 11'A from the right end and 9! from the
left end. How many students are standing in that
row ?

(A) 19 (B) 20 a3 21 (D) 18
One morning Savita set out from home to fetch water
in the direction of the Sun. After some time she
turned to her left and then to her right. After some
time she turned to her right again. Now which
direction is she facing ?

(A) South (B) West

(C) East (D) North

Directions : In question no. 33 and 34, two statements are
given followed by two conclusions I and II. You have to
consider the statements to be true, even if it seems to be at
variance from commonly known facts. You are to decide
which of the given conclusions can definitely be drawn
from the given statements. Indicate your answer.

33.

Statements :

. Meena is older than Roma.

II. Rashmiis older than Meena.

M. Roma is older than Rashmi.

If ISt two statements are true then 3 statement is :
(A) False (B) Uncertain

(©) Vague (D) True

SPACE FOR ROUGH WORK
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34. Statements: All athletes are brave.
All girls are athletes.
Conclusions: . All girls are brave.
[I. Some athletesare girls.
(A) Only conclusion I follows
(B) Both conclusion I and II follow
(©) Neither conclusion I nor I follows

(D) Only conclusion I follows

Direction : In question no. 35 and 36, vou are given the
name of a town and a date followed by four alternatives.
Of these, only one matches while the others have some
mistakes. You are to choose exactly the same as the given
One as your answer.

35. Aurangabad, September 19, 2009
(A) Aurangabad, September, 19 2009
(B) Aurangabad, 19 September, 2009
() Aurangabad, September 19, 2009
) Aurangabad, September, 19, 2009

36. Thiruvananthapuram,

April 12, 2014

(A) Thiruvananthapuram,
April 12, 21114

(B) Thiruvananthapuram,
April 12, “14

(O) Trivandrum,
April 12, 2014

(D) Thiruvananthapuram,
April 12th, 2014

Direction : Answer the question no. 37 and 38, based on
the following. Below are given some Roll Numbers of
candidates registered at different centres for an
examination. The first two digits from the left stand for the
centre cede and the next tour for the serial numberof the
candidates registered at the centre.

061391 041631 031863 069234

024268 046198 6059721 011432

£51491 010028 020063 0326452

011432 (50251 029378 040028

37.  Which centres have serial number 0028 common ?
(A) 01, 06 (B} 02, 04
(© 01,04 (D) 05 M

38.

39.

40.

41.

43.

Which centre has the largest number of
candidates ?

(A) 06

(B) 02 (C) 05

EJ_} 04

When you don’t know how to proceed with an
urgent official work, you will :

Jﬁ] seek the help of your seniors who had already

worked onit.
(B) try tounderstand how to complete it.
(© work hard to complete it by time.

(D) learnaboutitand complete the work.

When | witness an accident, I :

(A) will call the ambulance

(B) will panic

(©) will be one among the crowd and sympathize
() will pretend that I'm busy and rush

While speaking to an audience, you feel that
(A) Itis difficult to convey your matter
(B) You are comfortable in conveying your matter

(©) Youare partially comfortable in conveying your
matter.

(D) You will do better with some more practice

Either he is intelligent or industrious :

(A) He is industrious

(B) Anunintelligent person can be industrious
(© He is not industrious

(D) Heis intelligent

While having an argument with someone, if you
fail :

(A) Wait for the next opportunity to beat your
opponents.

(B) Agree to disagree with a part of the argument.
(C) Feel totally shaken.
(D) Analyse the reasons for the failure.

SPACE FOR ROUGH WORK
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44.  Select the Venn diagram that correctly shows the
relationship.

Continent : City : Country

00 ||&

(A) (B) © (D)

45. Inatotal population of 70, if 20 drink coffee and tea,
35 drink coffee, then select the correct Venn diagram
that shows :

(1) how many drink only coffee ?
(2) how many drink only tea ?

A = Coffee drinkers

A B A B

669 |8 €83

(A) (B) Q) (D)

46. From the given answer figures, select the one in
which the question figure is hidden/embedded.

Question figure

Answer figures

&)

d=

L

(©)

(D)

47.

48.

Which answer figure will complete the pattern in
the question figure ?

Question figure
(|
Answer figures
N || O] B
l
W ® © O

A word is represented by only one set of numbers as
given in any one of the alternatives. The sets of
numbers given in the alternatives are represented
by two classes of alphabets as in the 2 matrices given
below. The columns and rows of Matrix I are
numbered from 0 to 4 and that of Matrix II from,
5t09. A letter from these matrices can be represented
first by its row and next by column number. Fore.g.
A can be represented by 12, 24 etc. R can be
represented by 57, 76 etc. Identify the set for the
given word. ‘LAKE’

Matrix -1 Matrix - 11
of1]2(3]4 5(6(7]8]9
DIA|IE|S|T|H 5| PIO|IR|K|L
1| TIH{A|E]S 6| KIL|IP|OIR
21E|S|TIH|A 7Z|O|R|K|L|P
JIHIAIE|S|T 8|LIPIOIR|K
4|S|T|H|A|E 9 |RIK|L|P[O

(A) 97,00, 77,12

(&) T2 4593

(B) 66,12, 58, 40

(D) 85,31, 77, 44

GA-2014/Page8
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FOR VISUALLY HANDICAPPED

A piece of paper is folded and cut as shown below
in the question figures. From the given answer
figures, indicate how it will appear when opened.

Question figures

Answer figures
VRV V- [V
}DH{}'—: L< r L_”}OO{
= <]
HO P ]| A7 |]O 0
i A A 5 N
(A) (B) (©) (D)

If a mirror is placed on the line MN, then which of
the answer figures is the right image of the given
figure ?

Question figure

o> & x |
. % l-‘i.‘i“ ':{ IE:] I

(A) (B) (©) (D)

CANDIDATES ONLY

Direction : In question no. 44 and 45, select the related
word/ letter / number from the given alternatives.

Hi

46.

47.

a5,

49,

50.

315l B R 6 b

(A) 196 (B) 225 () 256 (D) 144
27:256 = 125: _ 2
(A) 625  (B) 1296 (O 1795 (D) 216

Find the odd word from the given alternatives.
(A) March (B) December
(©) August (D) February

Choose the correct alternative from the given ones
that will complete the series.

40, 41, 43, 46, 50, 55, __ ?

(A) 58 (B) 60 Q 61 D) 56

Find the wrong number in the given series :
2,5,11,19, 32,47

(A) 19 (B) 32

© 47 O 1

From the given alternative words, select the word
which cannot be formed using the letters of the given
word :

OSMOREGULATION
(A) Organise (B) Ritual
(C) Earnest (D) Strong

Leena is Radha’s friend. Radha is Medha's friend.
Rani is Seema’s friend. Seema is Neha's friend.
Friends only can work together. If in a group of
three, Rani and Seema were selected, who else
should be added in the group ?

(A) Leena
(C) Medha

(B) Neha
(D) Radha

GA-2014/Page10
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PART - 11

GENERAL AWARENESS

Devaluation means :

(A) Reduction in the external value of currency
(B) . Fallin valuation of the essentials in an economy
(©) Depreciation of the fixed assets

(D) Increase in the currency value in terms of foreign
currency

Disguised unemployment means :
(A) Willing to work and not getting the work

Not getting work on all days throughout the
&
vear

() Insufficiency of capital structure to absorb the
large labour force

(D) More people working, than required

The lines joining places of equal values of horizontal
component of earth’s magnetic field are called :

(A) Isogoniclines  (B) Isodynamic lines
(C) Aclinic lines (D) Isoclinic lines

Free and compulsory education for all children is
provided until they attain the age of :

(A) 16 years {B) 18 years
(©) 21 years (D) 14 years

The Indian recipient of Noble Peace Prize is :
(A) Hargovind Khurana

(B) Rabindra Nath Tagore

(C) Mother Teressa

(D) Amartya Sen

Which one among the following states is smallest
in area ?

(A) Gujarat
(C) Tamil Nadu

(B) Karnataka
(D) Andhra Pradesh

The “3 B’s” - brokers, bankers and businessmen were
responsible for :

(A) The Great Depression
(B) Russian Revolution
(O) French Revolution
(D) First World War

GA-2014/Pagel2

58.

59.

61.

62.

63.

The first Muslim Woman ruler of India was :
(A) Chandabibi

(B) Sultana Raziya

(C) Begum Hazarat Mahal

(D) Noorjahan

Highest Coffee growing state in India is:
(A) Karnataka (B} Uttar Pradesh
(C©) Maharashtra (D) Tamil Nadu

Red light is used in traffic signals, because :
(A) Colour of blood is red

(B) Animals can identify red

(O Red light disperses least

(D) Red is the symbol of danger

London is situated on the Banks of river:
(A) Tiber (B) Danube
(C©) Tigris (D) Thames

Name the portfolio held by Sri Pranab Mukherjee
betore he was elevated as President of India :

(A) Railway Minister

AB) Finance Minister

(C) External Affairs Minister
(D) Home Minister

ATM means:
(A) All Time Money

-(B) Automatic Teller Machine

(O Automated Teller Machine
(D) Any Time Money

Identify the odd sports man among the following :
(A) Narain Karthikeyan (B) Vijay Hazare,
(©) Sachin Tendulkar (D) Sunil Gavaskar

Which market forms allow free entry and exit of
firms?

(A) Perfectand Monopolistic

(B) Perfectand Oligopoly

(O Oligopoly and Monopoly
(D) Monopoly and Monopolistic

475 MH 3
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Which one of the following is used in making
pencils ?

(A) Charcoal
(C) Black ash

(B) Bone black
(D) Graphite

The bacteria capable of converting nitrite to nitrate
1S

(A) Nitrococcus
(©) Pseudomonas

(B) Nitrobacter
(D) Nitrosomonas

The rootless plant is :
(A) lemna (B) banana
(C) ginger (D) lemon

Din-I-llahi was founded by :
(A) Kabir (B) Akbar
(©) Shah Jahan (D) Guru Nanak Dev

First Indian to make a speech in Hindi before the
UN General Assembly was:

(A) A.B.Vajpayee"
(B) Lal Bahadur Shastri,
(C) Lal Krishna Advani
(D) Morarji Desai

The highest peak of the Eastern Ghats of India is :
(A) Shevroy hills (B) Mahendragin
(C) Javadi hills (D) Annaimudi

GNP differs from NINP due to :
(A) Netindirect taxes

(B) Direct taxes

(©) Interest on public debt

(D) Depreciation

Who addresses the joint sessions of the
parliament ?

(A) The President

(B) The Prime Minister

(O The Chairman of Rajya Sabha
(D) The Lok Sabha Speaker

DNAinacellisa:
(A) Carboxylicacid
(© Amino acid

(B) Nucleic acid
(D) Fatty acid

GA-2014/ Pagel4
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76.

78.

iy 8

80.

81.

82.

Which of the following awards is given for
excellence in sports coaching ?

(A) Sahitya Academi Award
(B) Dronacharya Award

(©) Arjun Award

(D) DadaSaheb Phalke Award

The density of water is greater than the density of
kerosene. If the two are mixed :

(A) Water floats on kerosene
(B) Kerosene floats on water
(C) Kerosene dissolves in water

(D) They mix uniformly

‘Purna Swaraj’ was announced in the Indian
National Congress Session of :

(A) Calcutta (B) Lahore
(©) Nagpur (D) Karachi

Who chaired the Boundary Commission in 1947, to
demarcate the boundary line between India and
Pakistan ?

(A) Krishna Menon (B) Mc Mohan
(©) J. Nehru (D) Henderson Brooks

Ashoka embraced Buddhism :

(A) Before the Kalinga war

(B) After the Kalinga war

(C) Just before his death

(D) When he was a Crown Prince

What kind of data can you send by e-mail ?
(A) Audio (B) Video
(©) Pictures (D) All of the above

Fundamental Rights are borrowed from the
constitution of :

(A) America
(C) Australia

(B) Ireland
(D) Russia

Which country is the largest producer of raw Jute ?
(A) Bangladesh (B) Pakistan
(©) Myanmar (D) India
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Who is the winner of the prestigious Man Booker
Prize 2013 ?

(A) Haruki Murakami (B)
(© Malala Yousufzai

Eleanor Catton
(D) Vikram Seth

The medicinal plant used in preparations for skin
care is :

(A) Cinchona
(©) Aloevera

(B) Amia
(D) Rauwolfia

Soda ash is the name for :

(A) Sodium hydroxide

(B) Anhydroussodium carbonate
(©) Sodium bicarbonate

(D) Hydrated sodium carbonate

Banana is a :
(A) Tree (B) Herb
(©) Undershrub (D) Shrub

Where is the permanent secretariat of the SAARC ?
(A) New Delhi (B) Islamabad
(C) Colombo (D) Kathmandu

Gas used for artificial ripening of fruits is :
(A) Ethane (B) Acetylene
(C) Propane (D) Methane

The characteristic of sound which distinguishes a
female voice from a male voice is called :

(A) pitch
(C) quality

(B) phase
(D) loudness

Who has recently been appointed the Chief
Economist and Senior Vice President of the World
Bank ?

(A) Justin Yifu Lin
(B) Kaushik Basu
(O Jagdish Bhagwati
(D) Raghuram Rajan

‘Statue of liberty” is the National Emblem of :
(A) UK (B) USA
(O Germany (D) Russia

GA-2014/Pagel6

92,

93.

94.

95.

97,

98.

100.

Which one of the following is an example of joint
supply ?

(A) Petroland Bus (B) Inkand Fountain Pen
(O) Sugarand Coffee (D) Wool and Cotton

Seeds are not enclosed in fruits in :
(A) angiosperms (B) dicotyledons
(O monocotyledons (D) gymnosperms

Sahara Desert is in the continent of -
(A) Europe (B} America
(©) Africa (D) Asia

Ozone Day is celebrated on :
(A) 21t April (B) 16 September
(© 25" Sepiember (D) 5thJune

Deficiency of which vitamin causes Beri-beri ?
(A) Vitamin B, (B) Vitamin B,
(C) Vitamin By, (D) Vitamin B,

Which of the following is not a waste product
produced by plants ?

(A) Water vapour
(C) Gum Arabic

(B) Oxygen
(D) Carbon dioxide

Water is an excellent solvent because its molecules
are:

(A) Highly polar
(O) Light weight

(B) Non-polar
(D) Neutral

Kolkata Knight Riders defeated which of the
following teams in the final match of IPL - 7 on
June 1, 2014 ?

(A) Chennai Super Kings
(B) Delhi Dare Devils

(© Kings XI Punjab

(D) Sun Risers Hyderabad

Which of the following is usually not an air
pollutant ?

(A) Sulphur dioxide
(B) Carbon dioxide
(C) Nitrous oxide
(D) Hydrocarbons
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PART - IiI
ENGLISH LANGUAGE AND COMPREHENSION

Direction : In Question no. 101 to 110, some part of the
sentences have errors and some are correct. Find out which
part of a sentence has an error and blacken the
oval [@®)] corresponding to the appropriate letter (A), (B),
(C). If a sentence is free from error, blacken the oval
corresponding to (D) in the Answer Sheet.

101. Every boy /have to submit the assignment /
(A) (B)
by this evening / No error
(©) (D)

102. Itis high time / that you /go home / No error

(A) (B) (©) (D)

[ saw portion / of the manuscript /on birds /

(A) (B) (©)
MNo error

(D)

| had worked very hard /on this project /
(A) (B)
and my boss was not satisfied /No error
© (D)

She invited / all her daughter-in-laws /
(A) (B)
to the grand party last week / No error

© (D)

The art exhibition / is a big hit /
(A) (B)
and they made a lot of profit / No error
- © (D)
T'he students / were playing /
(A) (B)
besides the school building / No error
(©) (D)

Profit is divided / between the five shareholders /
(A) (B)
of the company / Noerror
() (D)
It is clear that / each of the tricks /
(A) (B)
is a sort of defensive mechanism / No error

() (D)

My furniture / has been damaged /in transit /

(A) (B) ©
Mo error

(D)

103.

104.

105.

106.

107.

108.

109.

110.
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Direction : In Question no. 111 to 115, sentences are given
with blanks to be filled in with an appropriate word(s).
Four alternatives are suggested for each question. Choose
the correct alternative out of the four and indicate it by
blackening the appropriate oval [ @ ] in the Answer Sheet.

111. Sonia disliked eating in the restaurant.
(A) noisily (B) noiseful
(& noisy (D) noised
112, There's a cinema near the station, ?
(A) aren'tit (B) isn’t there
AG weren'tit (L) isn'tit
113. The villager for a long time and had no
courage to speak before the educated city crowd.
(A) stood (B) gazed
(O adjusted (D) hesitated
114. He was convicted manslaughter.
(A) of (B)- rom  (C) for (D) to
115. How much did you spend _ the roses ?
(A) in (B) on O of (D) from

Direction : In Question no. 116 to 120, out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark it in the Answer sheet.

116. Audacious

(A) cowardiy (B) kind
(© cruel (D) bold
117. Destructive
(A) damaging (B) pensive
(C) troublesome (D) apathetic
118. Repugnance
(A) absorption (B) representation
(C) fragmentation (D) aversion
119. Alternative
_(A) choice (B) barter
(C) variety (D) change
120. Garrulous
(A) quarrelsome (B) articulate
_A€) confident (D) talkative

Direction : In Question no. 121 to 125, choose the word
opposite in meaning to the given word and mark it in the
Answer Sheet.
121. Extemporaneous
(A) confined
(©) planned

(B) calm
(D) skilful

475 MH 3

www.sakshieducation.com



www.sakshieducation.com

122. Audacious
(A) mute (B) wvisible
(©) cultivated (D) timid
123. Boisterous
(A) Naughty (B) Quiet
(C) Reserved (D) Bouncy
124. Misery
(A) happiness (B) hardship
(© amity (D) anxiety
125. Feigned
(A) strong (B) dishonest
(©) spurious (D) genuine

Direction : In Question no. 126 to 130, four alternatives are
given for the Idiom\ Phrase. Choose the alternative which
best expresses the meaning of the Idiom\ Phrase and mark
it in the Answer Sheet.

126. Togetaway.

(A) toescape (B) toface

(C) to pass (D) toreach
127. Cheek by jowl.

(A) fighting (B) screaming

(O) close together (D) rubbing cheeks
128. To give the cold shoulder.

(A) tobeunfriendly (B) toabandonsomeone

(O toabuse someone (D) tocursesomeone
129. Tough act to follow.

(A) acting like a tough man

(B) difficult to perform like that

(C©) difficult to act well

(D) acting skill is tough
130. Beintheeye of the storm.

(A) tobe deeply involved inajob

(B) tobe deeply involved in a political movement
(O tobeinvolved inacontroversy

(D) tobedeeply involved ina crime

Direction : In Question no. 131 o 135, the 15t and the last
sentences of the passage are numbered 1 and 6. The rest of
the passage is split into four parts and named
P,Q,RandS. These four parts are not given in their proper
order. Read the sentence and find out which of the four
combinations is correct. Then find the correct answer and
indicate it by blackening the appropriate oval [ @ ] in the
Answer Sheet.

131. Nick was bored with life.

He caught the same bus to work.

He did the same things in office.

He got up exactly at the same time.

Every day was exactly the same.

He came home at the same time.
A) QPRS (B) PSRQ

(© SQRP (D) SRPQ

o P e

—
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134.
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1. Ifwelook around ustoday,

P. thatis shattered by violence,
Q. the effects of which

K. aworld

S. we will find

6. continue to influence us.

(A) RSPQ (B) RPQS
© SRPQ (D) QPSR

1. The king called his three daughters to know

from their own lips which of them loved him
best.

P.  Goneril, the eldest, declared that she had loved
her father more than words could give out.

Q. Regan, the second daughter, said that without
the love of her father, she found all joy dead.

R. Thewords of Goneril delighted the king.

S. Cordelia said that she loved him accurclmg to
her duty, neither more nor less.

6. Theking asked Cordelia to mend her speech.
PSRQ (B) PQRS
(©) PRQS (D) PRSQ

1. Milton was born in London in 1608 and was
educated at St. Paul’s School, London and at
Cambridge University.

P. After the execution of the king, Milton entered

the service of the commonwealth Government
in 1649 as Latin Secretary.

Q. He obtained his MA degree at the age
of 24.

R. After six years he went on a tour in 1638,

S. He began writing ‘Paradise Lost’ in 1658,

6. He died in 1674.

(A) PSQR (B) PORS

© PRSQ (D) QRPS

1. Anold mancame and sat next to me.

P. T also noticed that his clothes were dirty and
almost in rags.

Q. Hehad along, white beard.

R. lasked him what he wanted.

S. Hesaid that he wanted to tell my future.

6. llaughed and said that [ did not believe in that
sort of thing.

(A) QPRS (B) RPSQ

(© SQRP (D) RQPS
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Direction : In Question no. 136 to 145, a sentence has been
given in Active/ assive Voice. Out of the four alternatives
suggested, select the one which best expresses the same
sentence in Passive/ Active Voice and mark your answer
in the Answer Sheet.

136. Has she worked out all the sums ?
(A) Have all the sums worked out by her ¢
(B) Has all the sums been worked out by her ?
(O Have all the sums been worked by her ?
(D) Have all the sums been worked cut by her ?

Send for the doctor,

(A) Letthe doctor be sent for.
(B) Letthe doctor send.

(O Letthe doctor be sent.
(D) Let the doctor send for.

They made him the President of the club.

(A) They were made him the President of the club.

(B) The President of the club was made them by
him.

(C©) He was made the President of the club by them.

(D) The President of the club was made him by
them.

They will have to do the work sincerely.

(A) Sincerely the work has been done by them.

(B) The work is being done sincerely by them.

(© The work will have to be done sincerely by them.

(D) The work will have been done sincerely by
them.

Did the sound disturb you ?

(A) Was the sound dlst’urbed by you ?
(B) Were you disturbed by the sound ?
(O Were you disturb by the sound ?
(D) Did you disturb the sound ?

By this time he will have received my letter:

(A) By this time my letter will have been received
by him.

(B) By this time the letter has reached him.

(C) The letter, by this time, has been delivered to
him.

(D) By this time the letter has been received by him.

Run home, please.

(A) Youare please to run home.

(B) You are told to run home please.

(O) You are requested to run home.
(D) You run home and this is a request.

p &

138.

139,

140.

141.

142,

143. Ihave been given this book by my sister.

(A) My sister has given me this book.

(B) Tome this book was given by my sister.
(O This book was given by my sister.

(D) My sister gave me this book.

Drinking has ruined many people.

(A) Many people has been ruined by drinking.
(B) Many people have been ruined by drinking,
(C) Many people are ruined by drinking,.

(D) Many people has ruined drinking.

144.
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145.

The king mocked at the servant.

(A) The servant was mocked at by the king,

(B) The servant was being mocked at by the king,.
(©) The servant was to be mocked at by the king.
(D) The servaint was mocked by the king,.

Direction : In Question no. 146 to 155, a sentence/ a part of
the sentence is underlined. Below are given alternatives to
the underlined part at (A), (B), (C) which may improve the

sentence.

Choose the correct alternative. In case no

improvement is needed your answer is (D). Mark your
answer in the Answer Sheet.

146.

147.

148.

149.

150.

151.

152,

193,

154.

[ have read a little of the book.
(A) afew pages (B) little pages
(C) all pages (D) Noimprovement

He was asked to stay back from boarding the plane.
(A) held out (B) detained
(C) notallowed (D) Noimprovement

Madhu prefers coffee to tea.
(A) over (B) for
(©) than (D) Neimprovement

I'he police failed in its attempt to disperse the crowd
before the miscreants set the fire on the bus.

(A) setthe buson fire

(B) setlting fire on the bus

(O) setfirein the bus

(D) Noimprovement

The artist had finished hardly by that time.

(A} The artist had hardly finished by that time.
(B) The artist had finished well by that time.
(O Hardly had that time finished the artist.
(D) Noimprovement

Your parcel will have to arrive vet.
(A) 1svettoarrive (B) will arrive yet
(L) 1syetarriving (D) Noimprovement

Every thing depend on them coming on time.
(A) depends upon them coming

(B) depends upon them come

(©) depends upon their coming

(D) Noimprovement

The examination will commence from 7th December.
(A) at (B) in
(©) on (D) Noimprovement

This is the worst thing Sheila could have done.

(A) Sheila could have done more worst thing.

(B) This is the most worst thing Sheila could have
done.

(C) Sheila could have done it worst.

(DY Noimprovement
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What did happen in the community hall is not a
matter of our concern ?

(A) What happens  (B) What would happened
(© Whathappened (D) Noimprovement

Direction : In Question no. 156 to 165, a sentence has been
given in Direct/Indirect. Out of the four alternatives
suggested, select the one which best expresses the same
sentence in Indirect/Direct and mark your answer in the
Answer Sheet.

156.

157.

158.

159.

Rakesh said to his boss, “Please allow me to do the
presentation”.

(A) Rakesh requested his boss to allow him to do
the presentation.

(B) Rakeshrequested his boss to please allow him
to do the presentation.

(© Rakesh requested his boss to let him to do the
presentation.

(D) Rakesh said to his boss to please allow him to
do the presentation.

She asked me, “How is your father” ?
(A) She asked me how was my father.
(B) She asked him how mjlz father is.
(© She asked hmn:r father was.

_(D) She asked me how my father was.

My uncle said, “I will be here again tomorrow”.

(A) My uncle said that he would be here again
tomorrow.

(B) My uncle said that he would be there again the
next day.

(© My uncle said that he would be here again the
next day.

(D) My uncle said that | will be here again
tomorrow.

Nita said to the teacher, “Could you please repeat

the question” ?

(A) Nita requested the teacher whether she could
please repeat the question.

(B) Nita asked the teacher whether if she could
repeat the question.

(©) Nita requested the teacher to repeat the
question.

(U) Nita asked the teacher if please she could repeat
the question.

160.

161.

162.

163.

164.

165.

Mohan's father asked him, “Have you passed the
examination” ?

(A) Mohan’s father asked him whether he had
passed the examination.

(B) Mohan was asked by his father about passing
the examination.

(© His father asked Mohan had he passed the
examination.

(D) Mohan’s father asked did he pass the
examination.

The boys said, “We were walking 10 kms each day
to reach the camp site”.

(A) The boys said that they had walked 10 kms each
day to reach the camp site.

(B) The boys said that they had been walking
10 kms each day to reach the camp site.

(©) The boys said that they would be walking
10kms cach day to reach the camp site.

(D) The boys said that they were walking 10 kms
each day to reach the camp site.

The plants are watered by him regularly.
(A) He water the plants regularly.

(B) He waters the plants regularly.

(© Heis watering the plants regularly.
(D) He is water the plants regularly.

Gunjan advised me not to start the next day.

(A) “Don’tstart next day”, Gunjan said to me.
(B) Gunjan told me that, “Don’t start tomorrow”.
(© Gunjan said, “Will you not start next day” ?
(D) “Don’tstart tomorrow”, Gunjan said to me.

Ravi requested his mother to pass the salt.

(A) Ravisaid, “Mother, salt please”.

(B) Ravisaid, “Mother, please pass the salt”,
(© Ravi said, “Mother, let's pass the salt”.
(D) Ravi said, “Mother, pass the salt”.

Mohan said, “l am going to visit my uncle
tomorrow”.

(A) Mohan said that he was going to visit his uncle
the next day.
(B) Mohan said he would visit his uncle tomorrow.

(© Mohan said he wanted to visit his uncle
tomorrow.

(D) Mohan said that he might visit his uncle the
nextday.
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Direction : In Question no. 166 to 185, in the fSNERARYS ”iafi?f]'cofﬁx} atrocity (B)

passages some of the words have been left out. Read the
passages carefully and choose the correct answer to each
question out of the four alternative and fill in the blanks.
I'~ssage I (Question No. 166 to 175)

The very name “Sundarbans” conjures up
mysterious images of unending creeks, meandering
rivers, 166 marshes and swamps covered with __167 .
forests. The wonder of nature, the mangrove, acts as a
natural __ 168  against the tidal waves and cyclones
that 169 this delta and wash away huge tracts of
land __170 _human life and flora and fauna. But this gift
to mankind is under___ 171 of extinction. Rampant
developmental projects have __172 _havoc upon the eco-
system and tell - tale signs of global warming are all too
visible. Thehuge 173 ofhumansinthe 174 of eco-
tourism may soon result in the majestic king of the region,
the Royal Bengal tiger, becoming a fossilized __ 175 .

166. (A) arduous (B) menacing
(©) tiresome (D) fearing
167. (A) accessible (B) penetrable
(C) impenetrable (D) impossible
168. (A) safeguard (B) mountain
(O dike (D) dam
169. (A) ravish (B) ravage
(©) restore (D) rescue
170. (A) disregarding (B) resisting
(CO) endangering (D) encouraging
171. (A) warning (B) threat
(C) notice (D) order
172. (A) wreaked (B) created
(C) destroyed (D) brought
173. (A) gathering (B) arrival
(O) crowd (D) influx
174. (A) disguise (B) cloak
(C) garb (D) clothes
175. (A) relic (B) totem
(C) replica (D) symbol

Passage II (Question no. 176 to 185)

Thereare a number of _ 176 reasons not to travel
by a public transport. Thereisthe 177  of the time-table.
Then, thereare 178 about getting a seat, waiting at
bus-stops and so on. Yet, there are deeper reasons why
many of us __ 179 away irom public transport. Each of
us has our ownsetof 180 _and opinions against public
transport. __181 we are all slaves to advertisements. Car
advertisements _ 182 _the notion of freedom. Motorcycles
are offered asawayto__183 ourlostvouth. _184 |, there
is this feeling that we must have our own transport,

185 _ the cost.

176. (A) vague -

(© varying

(B) walid -
(D) forbidden
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rigidity

(©) cupidity (D) ferocity
178. (A) concern (B) obstructions

(O delights (D) concerns
179. (A) struggle (B) gets

© shy D) get
180. (A) prejudices (B) principles

(©) understanding (D) frustrations
181. (A) Onthecontrary (B) Moreover

(C) Consequently (D) Notwithstanding
182. (A) endure (B) empower

(O enforce (D) endanger
183. (A) rectify (B) reinvent

(©) resurface (D) recapture
184. (A) Asaresult (B) Albeit

(C) Thereatter (D) Although
185. (A) how much (B) whatever

(©) however (D) higher

Direction : In Question no. 186 to 200, you have three brief
passages with 5 questions following each passage. Read
the passages carefully and choose the best answer to each
question out of the four alternatives and mark it by
blackening the appropriate oval | @ ] in the Answer Sheet.
Passage I (Question No. 186 to 190)

The most frightening aspect of malnutrition is that
it is likely to cause permanent brain damage. Experiments
carried out on animals suggest that brain damage due to
malnutrition is irreversible. This may not be true of human
beings. Never the less, known facts as well as results of
tests conducted so far point out alarming conclusions. The
human brain grows very fast 3 months before its birth, the

1
child’s brain weighs 7 th of the adult’s brain. In 1 year,

the brain of a child is already 66% of the weight of the
adult brain. At4 years the brain weighs 99% and at 8, the
child’s brain is the size of an adult’s and there is no further
increase. Quite obviously, the first four years are crucial
for the development of the brain. And if the child suffers
from malnutrition, the damage to the brain may well be
permanent.

186. The most serious harm that may be caused by
malnutrition in childhood is :
(A) Permanent damage of the brain
(B) Improper growth of the brain
(C) Lack of proper size of the brain
(D) Goitre in the neck region

475 MH 3

www.sakshieducation.com



www.sakshieducation.com

187. A good nutrition is essential in the first four years of

a child’s life because :

(A) Atfour years there is no further increase of the
brain

(By At four years the brain weighs 99%

(©) Atfour years the child’s brain is the size of an
adult’s

(D) Atfour years the brain is fully developed

188. The theme of the passage is:

(A) Experiments on human beings
(B) Growth of the brain
(CO) Malnutrition and its effect
(D) Permanent brain damage
189. Find out the word in the passage, which means very
important:
(A) alarming
(C) conducted

(B) nevertheless
(D) crucial

190. The meaning of ‘irreversible’ is :
(A) irrelevant (B) changed

(O unchangeable (D) altered

Passage I (Questions No. 191 to 195)

When he heard that a Dutch inventor had invented
something called a spyglass, but was keeping it a secret,
Galileo Galilei decided to work on one of his own. Within
24 hours, he had invented a telescope that could magnify
things to make them appear ten times larger than real life.
One night, he pointed his telescope towards the sky, and
made his first of many space observations : the moon was
not smooth, like everyone thought. The moon was covered
with bumps and craters. As technology has improved,
many others, have made improvements on the telescope,
the wonderful device that allows us to se¢ from a distance.

191. What is the main theme of the passage ?
(A) Galileo and modern technology
(B) Galileo and the Dutch inventor
(O) Galileo and the spyglass
(D) Galileo and his telescope

192. What was Galileo’s observation of the moon ?

(A) Its surface was both smooth and rough

AB) Iis surface was covered with bumps and craters
(O Its surface was bright and beautiful

(D) Its surface was smooth

193. What is the basic definition of a telescope ?
(A) A device that allows us to spy on things
(B) A device that minimizes objects

(©) A device that shows multiple objects

(D) A device that magnifies distant objects

GA-2014/Page23
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194. What was the inspiration for Galileo’s telescope ?
(A) A Dutch inventor’s spyglass

(B) A Dutch inventor’s magnifying glass

() A Dutch inventor’s modern device

(D) A Dutch inventor’s telescope

195. Giveasynonym for ‘improvements’.
(A) Developments  (B) Discoveries

(C) Decisions (D) Inventions

Passage III (Question No. 196 to 200)

Dance involves our sense of rhythm. We have an
innate sense of rhythm in us. From the time we are in our
mother’s wompb, the rhythmic rocking we feel as she walks
awakens our instinct of movement. As babies, we are
rocked to sleep. As children, we sing nursery rhymes and
clap or dance along to them. We have already begun
dancing. In many countries, dance is indulged in to
cultivate discipline and appreciation for one’s native
culture. For instance, in Africa, many tribes initiate their
children into adulthood through dance. When we have
mastered walking, we learn the rudimentary steps of dance.
From there, we are able to choreograph other steps suited
to the message we wish to convey. Ironically, we are able
to be spontaneous in the midst of discipline.

196.  Why is dance taught in many countries ?

(A) to gain applause

(B)- to cultivate discipline and appreciation of one’s

culture

(O tomaster walking

(D) toattain importance in society

197. What is the main theme of the passage ?
(A) Dance teaching discipline

(B) African dances

(©) Dancing to nursery rhymes

(D) Dance and its importance in life and society

198. What is the meaning of the word ‘rudimentary”’ ?

(A) Secondary (B) Tertiary -
(©) Basic (D) Final
199. When is the human being first associated with
rhythm ?
(A) During his/her initiation to adulthood
(B) When a baby is rocked to sleep
() Inthe mother’'s womb
(D) In a ballet class

200. Give a synonym for ‘spontaneous’.
(A) Spendthrift (B) Quick
(C) Instinctive (D) Unnatural

-000-
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